

**SOLUTION TO PROBLEM #11874
OF THE AMERICAN MATHEMATICAL MONTHLY**

TEWODROS AMDEBERHAN
TAMDEBER@TULANE.EDU

Problem #11874. *Proposed by C. I. Velea, Romania.* Evaluate the limits below,

$$\lim_{n \rightarrow \infty} \sum_{k=2}^{n-1} \frac{\zeta(k)}{\Gamma(n-k)}, \quad \lim_{n \rightarrow \infty} \sum_{k=1}^{n-2} (-1)^{k-1} \frac{\zeta(n-k)}{\Gamma(k)}$$

Solution by Tewodros Amdeberhan, Tulane University, LA, USA. Consider $a_n := \sum_{k=0}^{n-2} \frac{\zeta(n-k)}{k!}$ and $b_n := \sum_{k=0}^{n-2} \frac{1}{k!}$. Now, let's compute the sum

$$\begin{aligned} \sum_{n \geq 2} (a_n - b_n) &= \sum_{n=0}^{\infty} \sum_{k=0}^n \frac{\zeta(n-k+2) - 1}{k!} = \sum_{k=0}^{\infty} \frac{1}{k!} \sum_{n=k}^{\infty} (\zeta(n-k+2) - 1) = \sum_{k=0}^{\infty} \frac{1}{k!} \sum_{n=2}^{\infty} (\zeta(n) - 1) \\ &= e \cdot \sum_{n=2}^{\infty} \sum_{j=2}^{\infty} \frac{1}{j^n} = e \sum_{j=2}^{\infty} \sum_{n=2}^{\infty} \frac{1}{j^n} = e \sum_{j=2}^{\infty} \frac{1}{j(j-1)} = e. \end{aligned}$$

Since the series is convergent, $\lim_{n \rightarrow \infty} (a_n - b_n) = 0$ and hence $\lim_{n \rightarrow \infty} a_n = \lim_{n \rightarrow \infty} (b_n + a_n - b_n) = \lim_{n \rightarrow \infty} b_n + \lim_{n \rightarrow \infty} (a_n - b_n) = \sum_{k=0}^{\infty} \frac{1}{k!} = e$.

The second limit is worked out similarly. Let $c_n := \sum_{k=0}^{n-2} \frac{(-1)^k \zeta(n-k)}{k!}$ and $d_n := \sum_{k=0}^{n-2} \frac{(-1)^k}{k!}$. So,

$$\sum_{n \geq 2} (c_n - d_n) = \sum_{k=0}^{\infty} \frac{(-1)^k}{k!} \sum_{n=k}^{\infty} (\zeta(n-k+2) - 1) = \sum_{k=0}^{\infty} \frac{(-1)^k}{k!} \sum_{n=2}^{\infty} (\zeta(n) - 1) = \frac{1}{e}.$$

Since the series is convergent, $\lim_{n \rightarrow \infty} (c_n - d_n) = 0$ and hence $\lim_{n \rightarrow \infty} c_n = \lim_{n \rightarrow \infty} (d_n + c_n - d_n) = \lim_{n \rightarrow \infty} d_n + \lim_{n \rightarrow \infty} (c_n - d_n) = \sum_{k=0}^{\infty} \frac{(-1)^k}{k!} = \frac{1}{e}$. \square